Division von Dezimalzahlen[image: ]


Beispiel: 1,18 : 0,02 = 118 : 2  = 59



1)a)  1,18 : 0,02 = 118 : 2  = 59	b)  0,16 : 0,08 = 2



2)a)  10,8 : 9 = 10,8 : 9    = 1,2	b)   3,5 : 7    = 0,5



3)a)  49,6 : 6,2 = 496 : 62  = 8	b) 4,35 : 1,45  = 435 : 145 = 3



4)a) 0,22 : 0,044 = 220 : 44 = 5	b) 4,109 : 7 = 4,109 : 7 = 0,587





5)a) 0,306 : 9 = 0,306 : 9   = 0,034 	b) 180,2 : 90,1 = 1802 : 901 = 2





6)a)  5,46 : 0,06 = 546 : 6  = 91 	b) 69,3 : 3,3   = 693 : 33 = 21




7)a)   0,32 : 8 = 0,32 : 8   = 0,04 	b) 4,83 : 0,7   = 48,3 : 7 = 6,9





8)a)   2,08 : 2,6 = 20,8 : 26 = 0,8 	b) 17,34 : 28,9 = 173,4 : 289 = 0,6





[bookmark: _GoBack]10)a) 3,373 : 2,692 = 3373 : 2692 = 1,2530

© Maria Niehaves 2020
image1.png




